SR

6. SEEHRE

#&38 RARIZHT-XBITEER

CHAL = A) A 2 4
X Sl ksl 1A | 2A [ 3A |48 [ 5A | 6A | 7A | 8A | 9A | 10A | 11A | 12A
E N #| 183 15 16 15 15 16 14 21 21 15 11 9 15
=] R 92 6 7 9 7 10 9 7 10 9 5 6 1
A I 91 9 9 6 8 6 5 14 11 6 6 3 8
h x| 20 - 2 2 2 - 2 6 2 1 - - 3
S AN B vl - - - 2| 3| -| -| -| -| 1
A Tl 13 1 2 2 - 3 2 1 2
B x| 23 3 1 3 3 2 3 2 4 - - - 2
=i #1013 2 1 1 2 1 2 1 1 - - - 2
A T 10 1 - 2 1 1 1 1 3 - - - -
5] x| 29 1 4 4 4 2 4 3 2 2 1 2
B s 14 - 2 3 - 3 1 - 1 1 2 - 1
A Tl 15 1 2 1 - 1 1 4 2 1 - 1 1
76 x| 28 3 2 - 1 1 1 3 3 5 5 2 2
i sk 15 1 1 - 1 - 1 2 1 3 2 2 1
A T 13 2 1 - 1 - 1 2 2 3 - 1
e X[ 40 2 2 2 4 2 4 4 5 5 2 2 6
B s 22 2 1 2 2 2 2 1 3 3 1 1 2
A Tl 18 - 1 - 2 - 2 3 2 2 1 1 4
7 e b X[ 18 5 2 1 4 1 1 1 3
E % 6 1 1 - - 1 — — 1 — _ 2 _
A Tl 12 4 1 - 1 3 1 - - - 1 1 -
T £ X 8 - 1 - 3 - - 1 2 - - 1 -
B oK 4 - - - 1 - - - 2 - - 1 -
A T 4 1 2 1 - -
1 1A X[ 17 1 2 4 1 3 1 1 1 2 1 - -
B 11 - - 3 1 3 1 - 1 2 - - -
A T 6 1 2 1 - - - 1 - - 1 - -
#39 FERXRHNAH-FEHETE - Tl (HE+ERLREE) T3t
CEA7 2 A)
s = % %
e b/ AN AR
mremsee | g | OVEE | e | s | 00
TR 224F 46 34 12 4.0 3.0 1.0
23 41 36 5 3.6 3.0 0.4
24 44 34 10 3.9 3.1 0.9
25 35 28 7 3.2 3.0 0.6
26 29 22 7 5.2 2.6 1.3
27 34 26 8 3.2 4.0 0.7
28 41 36 5 3.9 2.4 0.5
29 25 22 3 2.5 3.4 0.3
30 40 30 10 4.0 3.0 1.0
31 34 27 7 3.7 2.9 0.8
S 25 28 23 5 3.0 2.5 0.5
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=40 ARlIZH-XBEEHETH

SEREREH

(BT 0 AN) AF0 2 4E
X Sy | ¥l 1A | 2H | 3H | 43 | 5A | 6A | 7TH | 84 | 94 |10 [ 114 | 12H
# | 28 3 4 3 3 2 2 3 2 1 -
% B %E E 23 3 1 3 3 2 - 3 2 1 -
e REE 5 - 3 - - - - 2 - - - _ _
Gy X 1 - - - - - - 1 - - - - -
% M o E - - - - - - - - - - _ _ _
R A R A 1 - - - - - - 1 - - _ _ _
" X 4 1 - 1 - 1 1 - - - - - -
% W s E 4 1 - 1 - 1 1 - - _ _ _ _
B RsE T - - - - - - _ _ _ _ _ _ _
53] X 5 - 1 1 - 1 - - 1 - 1 - -
% W o P 5 - 1 1 - 1 - - 1 - 1 - -
B RsE T - - - - - - _ _ _ _ _ _ _
[} X[ 5 1 2 - 1 - - - 1 - - - -
% W o P 3 1 - - 1 - - - 1 - - - -
A T 2 - 2 - - - - - - _ _ _ _
EZSE SR £ - B 1 - - 1 - - - 1 1 1 - -
% W o 5 1 - - 1 - - - 1 1 1 - -
B RE T - - - - - - - — , _ _ _ _
7 e db K| 2 - - - - 1 - - - _ _ 1 _
wowm o | 2| -| -| -| -| 1| -| - - - - 1| -
B RE T - - - - - - - — , _ _ _ _
3 = x| 2 - - - 1 - - 1 - - - - _
% # o E 1 - - - 1 - - - - - _ _ _
R A VA T 1 - - - - - - 1 _ - _ _ _
15 = X 4 - 1 1 - - 1 - - 1 _ _ _
% W ¥ GE 3 - - 1 - - 1 - - 1 _ _ _
LA R AT 1 - 1 - - - - - - - _ _ _
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FERERRE

=41 TERREEAN A 1= X R FEE L
(BEA7 A F0 2 4E
# H X & N L ¥ pE
w1222 28 37| |12 22 28 37| 12| 22| 28| 37
{ { ! 5 ! ! { 2 { { { o
Bolor |2t 36| B | #2127 36| | %%/ 20|27 36| k
i 5 183| 160 8 10 5 92| 69 8 10 5[ 91 91 - - -
th X 201 20 —| —| - 7 71 —1 = - 13 113 —| —| -
0 X 231 19 1 1 2l 13 9 1 1 2 10| 1w0f —-| —| -
£ X 29 24 2 2 1 14 9 2 2 i 15 15 —| —| -
i) X 28] 25| — 2 1 15 121 — 2 i 13 13 —| —-| -
% B omE K 40| 35 2 31 —| 22| 17 2 31 —| 18] 18 —| —| -—
7 o | 18| 16 1 | - 6 4 1 i - 121 121 —| —| -
77 £ X 8 71 —| - 1 4 31 —| — 1 4 al - - -
1 1A X 171 14 2 1] —| 1 8 2 | 6 6] — — —
F=42 TERRBAFHAICHT-BOEE OEBEHR) BIFEEL
(BT + ) A0 2 4R
I e H & % N L % pE
ol 122228 37| |12 22 28| 37| | 12| 22| 28| 37
= i i) iz] iz]
{ { { 2 { { ! o { { { o
ol 2t | 27|36 | E| #2127 36| | % | 21| 27| 3| E
E N g 183| 160 8 10 5( 92| 69 8 10 5[ 91 91 - - -
15 % K -1 =1 -t -1 -1 -t -1 -1 -1 -1 -1 -1 -1 - -
15 ~ 19 %% 6 18] —| —| - 1 i -1 -1 —| 18] 158 —| —| -
20 ~ 24 % 25| 23 1 1 - 5 3 1 i - 20 20 —| —| -
25 ~ 29 % 431 32 4 6 1| 26/ 15 4 6 i 17l 17l —| —| -
30 ~ 34 % 46| 41 1 2 2| 31| 26 1 2 2| 15| 18} —| —| -—
35 ~ 39 % 32| 28 2 1 1 21| 17 2 1 i 1 1u - - -
40 ~ 44 5% 211 20 —| — 1 8 71 —| - i 13 13} —| —| -
* 72 i - -1 =t -1 -1 =1 -1 -1 -1 -1 -1 -1 -1 - -
=43 BOEHE ORmMEHR) AIH-XBIFEER
(BT + A) AFn 2 4
[Ee i ey i W E3] [} e - o A B s
# ¥ 183 20 23 29 28 40 18 8 17
15 & K — — - - - - - - -
15 ~ 19 5% 16 2 1 4 2 5 — — 2
20 ~ 24 % 25 3 4 2 3 3 6 1 3
25 ~ 29 % 43 5 10 3 4 12 5 — 4
30 ~ 34 % 46 4 6 11 5 13 1 1 5
35 ~ 39 % 32 2 2 5 11 4 5 2 1
40 ~ 44 5% 21 4 — 4 3 3 1 4 2
e 72 1t — — — — - - — — —
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7. UEYRERET

F44 AR A =X R 9B IR 4 2

ISR

CHA7 2 1) A 2 4R
X 53 ¥ | 1A | 2A | 3A | 483 | 58 | 6A | TA | 84 | 94 | 108 | 114 | 124
#% # 5,581 330 778| 478| 425 367 443| 393 423| 338 418| 761 427
aE X 836 55 129] 60 55 57 62 51 75 54 57| 120 61
w X 486 20  s2| 47 35 42 47 33 32 27 35 72 44
E3) X 693 34 85 58 51 50 53| 43 60 38 59 107 55
[ic} X 1,067 771 150 87 87 61 81 75 62 56| 88| 155 88
7 e MK 1,152 68| 174| 117 95 69 92 81 87 71 78| 151 69
Z B db K 462 40| e8| 42 26 36 39 40 32 32 30 51 28
7 = X 336 8 39 36 25 18 21 29 30 31 25 39 35
1k 18 X 549 28 83 31 51 34 48 41 45 29 46 66 47
F+45 KRIFHEEDOFH OREFER) ACAHT-IFREE
(R4 2 1) A0 2 4F
*| & 15 15 20 25 30 35 | 40 | 45 50 55 60 ~
i { { { { { { { { { o
e # T 19 24 29 34 39 44 49 54 59 s B
E 2 #| 4 209 - 52| 704 1,798 972| 396| 193] 75 15 3 1 -
15w K W - - — — — — - — - — - — —
15 ~ 19 % 87 — 37 33 13 4 — — — — — — —
20 ~ 24 % 977 — 14| 520 321 85 25 11 1 — — — —
25 ~ 29 % 1,912 — 1| 132] 1,252 409| 85 31 2 — — — —
30 ~ 34 % 812 — — 19] 189 401| 151 42 10 — — — —
35 ~ 39 % 283 — — — 22 64| 111 64 19 2 — 1 —
40 ~ 44 % 97 — — — 1 7 18] 40| 25 4 2 — —
45 ~ 49 % 32 — — — — 2 6 4 14 6 — — —
50 ~ 54 % 7 — — — — — — 1 2 3 1 — —
55 ~ 59 % 2 — — — — — — — 2 — — — —
60 m L b — — — — — — — — — — — — —
Z( g‘ — i _ i _ i . i . i . _ i
Kl & SIS OGE
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PSR R

FA6  FRRANH =T WIEF

IR
N=TH UNSTS 4 [H
PN
M Fn 50 4 26. 7 24. 4 27.0 24.7
60 28.0 25.3 28.0 25. 2 28. 2 25.5
Fopk 13 AR 28.8 27. 1 28.5 26.8 29.0 27.2
14 28.9 27. 4 28.6 27.1 29.1 27. 4
15 29.3 27.7 28.9 27.3 29. 4 27.6
16 29. 4 27.8 29.1 27.5 29. 6 27.8
17 29.5 27.9 29.3 27.6 29. 8 28.0
18 29.7 28. 2 29.5 27.8 30.0 28. 2
19 29.8 28. 2 29.5 27.8 30. 1 28.3
20 29.9 28.3 29.7 28.0 30. 2 28.5
21 30. 1 28.5 29.8 28. 2 30. 4 28.6
22 30. 2 28. 8 30.0 28. 4 30.5 28. 8
23 30. 4 28.9 30. 1 28.6 30. 7 29.0
24 30.5 29.1 30. 2 28.7 30. 8 29. 2
25 30. 7 29. 4 30. 4 28.9 30.9 29.3
26 30. 7 29.3 30.5 29.0 31.1 29. 4
27 30. 6 29.1 30.3 28.9 31.1 29. 4
28 30. 6 29.1 30. 4 28.9 31.1 29. 4
29 30. 7 29. 2 30.5 28.9 31.1 29. 4
30 30.5 29. 2 30.3 29.0 31.1 29. 4
31 30. 4 29. 2 30.5 29.1 31.2 29. 6
oM 2f 30.5 29.3 30.3 29.0 31 29.4

o R OERIEE BRI R E I REZBD 2RO 5 BRI OFERTH D,
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8. HEEIEMRET

&A1 RRIZH =R B IR

BEhEHeE!

(AT - ) A0 24
X 2y | k| 1A [ 2A | 3H | 43 | 5A [ 6A | 7TH | 8H | 9A |10 | 114 | 124
73 #(1,894( 167| 143] 218| 168 117 125 179 161| 132| 168| 156/ 160
G2 x| 254 22| 24 20 24| 16| 14| 27| 26| 21| 17| 22| 21
3 x| 172 11| 18] 27 12| 10| 16| 21| 14| 10| 10| 10| 13
£ x| 209 15| 18] 26| 17| 15| 15| 22| 19| 13| 16| 15| 18
[ic} x| 289 35| 201 23 27| 17| 19| 19| 19| 23] 28] 31| 28
2 M2 m X| 384 41 27| 45| 33| 22| 21| 26| 43| 27| 36| 31| 32
7 f Jb x| 238] 22| 12| 31| 20| 16| 19| 20 14| 18] 22| 20 24
% B x| 116] 12 71 19 10 8 71 13 6| 10| 10 5 9
e 1A x| 232 9| 17| 27 25| 13| 14| 31| 20 10| 29 22| 15
48 FEEER A 1= 5B HARE Bl B B 44 2

(A0 - 1) AN 2 4

[Fi Je=- 440 i 5y B s #wH REIES Fnfi Rt

# - 1,894 1,664 1M 17 21 21 —

6 7 H K W 53 45 7 — 1 — —

64 A ~ 1R 66 63 1 1 — 1 —
14~ 24E KM 134 123 8 1 1 1 —
24~ SHERIH 129 118 9 — 1 1 —
SEE ~ AR 109 98 10 — — 1 —
YA ~ BEERTH 98 84 11 1 1 1 —
BEE ~ 104 A 331 288 34 3 4 2 —
104E~ 154E KT 240 204 24 2 5 5 —
154E~ 204E AT 206 182 19 2 — 3 —

20 4 Lk 366 322 31 4 5 4 —

N 3 162 137 17 3 3 2 —
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